FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

e — Batery padk
BATTERY REMOVAL
— Battery cover
atery cover
Telease latch
1P he Bty coue el latch 1 th irecion
e atowand ol e nich posr Battery latch

3. Fush bk the Batery lateh, then o he Battery

OPTIONAL PCMCIA CARD REMOVAL

tectfon Pl P e ree gk Ejchuons
AN
1.0penthe C cardstot 5 Remore one MpxS siver scrowsecurng the
5 T B ot ik osten 3
.
i R s g e o ard over

4. Graspthe PC card and remove it

TOSHIBA

Tough Enough for Today's World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

FDD/CD-ROM REMOVAL  Selectcbe oy lock FDDICDROM

Eject noteh

FOD or CDROM

Selectable Bay case
1. Side the Selectable Bay lockin the drection ofthe:
i ok B EDDIOD OM 3. Side the FDD/CD-ROM out,then it out.
RO from the Selectable

the FDDICD-ROM. b,

HDD REMOVAL

1126 silver screw

Noteh
(i)

HDD siot cover
1. Remove one M2x silver screw.

2. Lit up the HDD slot cover and remove it
3. Grasp the HDD case and gertly pul tout.

TOSHIBA

Tough Enough for Today's Wordd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

PALM REST and MODEM REMOVAL

26
Siver screve

Pam Tt

1-Bencr o ext s ssrews fon the
font ofthe c

2T v compulTbtsldeup and penthe
display.

3.Pullihe palm rest tothe fort ofthe computer then
1t up the palm rest

F. Rubber Bar

Modem shiekd DA Mode
L Rubber Bar e prane swtch cable
1. Remove three M2xt silver screws securing he.
1 Careuy pul en et b bar o remove  fom modem shieid and modem
nihe pan e 2 Remove two M2x silver serews secuing the
2 Demea o switch cable fom PJ25 DAAmo
3 Carctly pull an e right rubbr barto emove £ 3. Disconnectthe Modem boare fom P16 on the
o the grove on the paim rest

ystem board and It ut the modem board and the

TOSHIBA

Tough Enough for Today's Wordd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

DISPLAY and KEYBOARD ASSEMBLY

112560 silver screvs

2507 siter serev

Keyboard Brace

1. Release fie latches securing the Keyboard Brace.
1. Tumthe computer upside down and remove two and it out.
N2.57 silver screws anc two M.5x30 silver

2. Tumthe computer ightsd up and open the
Display.

2500 siber screws

Keyboard W25 slver screvs

Keyboard cable
i)

etal Plte

1. Liftout theeyboard o acoess the <eyboard cable
2. Disconnect the Keyboard cable fom P11 1. Remove three M2.5x20 siver screws and one

and remove the keyboart. WR.5xT silver screw secuing the metal plate
2. Rotate the right edge of the metal plate up sigrtly
and it it out

TOSHIBA

Tough Enough for Today's Wordd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

RTC, BACKUP BATTERY and MICROPHONE

T sy cate 19
up Battery cable (PI14)

1. Remove the tape onthe RTC and Backup
cables,

2 Disconnect the RTC battery cable o P g
3. Disconnect the Backup battery cable from P14,
3 Remove two M2.5xd brass screws seciing th

& Remoethe ape coverg he icrophoneand auo
cables and connectors.

7. Dissommct i mictophone cable fon PJIE and
femovethe microphane.

Wicophane Batery ctophane cable (J16)
holder Tape

DISPLAY ASSEMBLY REMOVAL

rass
» seren Displaycatles use port FLinvertar cable
Gptonal memorySocket  Hedstuds Growndshield

1. Disconnectthe LCD cables and FL cable.

1. Remove throeM2.5x6 brass screws fom the fort
edge ofthe upper cover, Remove the ground shield Mot Never remote connector by puling on the cable,
2

2 Tt font edge ofheupper coer uprard s tht

Cortesponng e of he upper v

3. Releas oo et hes el he Loper ovel an 3.Lit offthe upper cover vith he display assembly.

ot the cover wih the display assembly sighly

~ TOSHIBA

Tough Enough for Today's Wordd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

USB PORT and SPEAKERS

W
siversrens

Spesker (F)

1. Remove the Ground stield coveringthe system
board and keep forreassembly.
o

late: The USB and system
complete mode. There s no need fo separate

thess tvo modues.

lect bay
vatery cae
excludng 4802470

SYSTEM BOARD
—ER e 2,520

Notet: Before seatingthe system board, male sure the

n when removing or
insaling the system board

2 bi
and spealerpower supply cables
3. Disconnedt the speaker cables fiom PJ22 and

remove the spealers.

1. Disconnect the Select Bay battery cable fiom P15

< Remore two 2
s wemuy e e e ofthe sysemboard up
e o o Tom

PI501 on'ihe P
7. Lt out e system b fom the bttom cover

Note 3: The system beard and pover supply connect on
the underside, so gertly pushdovin aroundine
whte arrowurti both boards snap together.

TOSHIBA

Tough Enough for Today's Wordd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™

220/440/460/470/480 Series

PS BOARD

"COOLING FAN

5 T syaen boat et up and scommea
Put 1. Remove the insulate

the fan cable from

3. Remove the cooling fan fom the system boar 2. Rotate the edge ofthe HDD slot cover up sightly
ote: The cooling fan s nct patt of the system board and it out

Sysem boards. 3 Dlionned he Socond oty able Tom P02

DISPLAY MASK
gt on the corresponding holes on the.
5. Remove two 1124t screws andseparate the

Selectable Bay cable fom cable holder. Do nct
pulltoo har on the Selectable Bay cable

Tocsiors

1. Remove mask seal and name seal at the hinges.

Expose two M5 slver screws sscuring the,
play ma

2 Remove netvo V64T sierscrows v

covered by the s=:
3. Rtona o115 snaps secure he cislay mask
Caretully inser
the LCD panel and pry open the snaps. Start th six Rl by 2 0ehoon G vacel
‘and at the hinges (2 shaps

Snaps across the top ofthe display mask.

TOSHIBA

Tough Enough for Today's Wordd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite/Satellite Pro™
220/440/460/470/480 Series

FLINVERTER and SCREEN

~ R
nvertar cale

~
siversaens

1. Remove two M2.5xT silver screws securing the FL
inverter board.
2. Caretly rotate the FL inverter board ot fom right to
A and cisconnect the FL inwester cable fom CII1

3. Remove one M2.5xd silver serewsecuring the
cortrast board. ON CDS HODELS ONLY!
5. Remove four M2.5xT silver screws seeuiing the LCD.
6. Carstllyrotate the LCD module fom right to et
ot ofthe LCD

7. Disconnect the LCD eable fom the LCD module
and remove the LCD fom the computer

TOSHIBA

Tough Enough for Today's Wordd.



